To make the graph of the inverse of a relation you

take each point on the original relation, switch the x and y
coordinates, then replot them.
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The concept of an Inverse Relation is all about...

switching Xand Y



To draw the inverse relation. Depending on what version of
the Ti-84 you have use these key strokes:
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Is the inverse of each relation a function?

’
.
,
,
’
,
,
-4 2 7 2 4
4 X
‘., 1
s 2
g ()

Yes, ' is a function

4 2 4 2

d Yo
e -2
o >f(x)
it 4
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Is f'(x) a function?

No, the inverse f' doesn't
pass the vertical line test.

Is the inverse of each relation a function?
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No, f'is NOT a function

No, f' is NOT a function



Given the graph of an orginal relation,
how do you tell if the inverse relation is a
function without actually graphing the

inverse?

3. Use what you may know about the graph of each or graph them using the

graphing calculator to determine if the inverse relation of each is a function or not.

a) flx) =—-4x+1

Yes, the inverse is a function
because no Horizontal Line
will touch the orginal graph
more than once so no Vertical
Line will touch the inverse
more than once.
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Horizontal Line Test: a visual test to determine if the
inverse relation will be a function.

If any horizontal line can intersect a relation
more than once then the graph of the inverse is

NOT a function
b) v = =L
x?—4
No, the inverse is not a function =~ —=—=—=—==

because there is a Horizontal
Line that will touch the orginal
graph more than once which .
means that there is Vertical Line -
that will touch the inverse more

than once.




C) y=x>—x3+2x2-2

No, the inverse is not a function
because there is a Horizontal
Line that will touch the orginal
graph more than once which
means that there is Vertical Line
that will touch the inverse more
than once.

e) f(x)=-x*+7x +8x-9
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Without graphing you can tell that the inverse of this relation is
NOT a function. Since f(x) is a Negative Even function the
end-behavior is (£ ,\), which tells us that it will fail the Horizontal

Line Test.

d) fix)=5J/x+2-9

Yes, the inverse is a function
because no Horizontal Line
will touch the orginal graph
more than once so no Vertical
Line will touch the inverse
more than once.

e) Is the inverse relation of each a function?

y=x>+12x* +44x + 48

No, the inverse is not a function
because there is a Horizontal
Line that will touch the orginal
graph more than once which
means that there is Vertical Line
that will touch the inverse more
than once.
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To make f “1(X) a function we must "cut off " part of f(X) .
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If we cut off the left side of f(x) what
does f (x) look like?
the top half of a sideways parabola

What is the domain and range of
this new f(x)?

D: x>-4 R:y>1
What is the d in and range of
this new f Xx)?

D: x\z/1 R:y>-4
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